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(1) S PHRRFIFIAU)UA)CGIMGO) A EZ

(2) SPRBRFHZMELHTNUANFLIFRICHIT, Wi<j-4,

(3) SHE—NEH GEN b)) MRXMFEFFNR: b ABSEMAERN: b TR
bl RX‘L K‘P t<k-4;

(4) (REXEWD FOb)HbLb)E S PHBmAFHR, Hi<k, Wi<k<j<IR
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B LA K 6] e 7 7R M — R H) S MRV IRIRACR 7R, SRR IRAC R 75 R
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B CGj)RA LT bbb MIRMRAR /R (B _REHS) PHOTHNE,
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cip= ° Ry

FlACHANGEMCE LR, NP
n: FHFHIKE
B[): FHH-%
ClN: MARAS RS SO HoA

[c ]
#include <stdio.h>
#include <stdlib.h>
#define LEN 100

/R A IR RCRT/
int isMatch(char a,char b){
ifi(a=="A'&& b=="U") || (a=="U' && b =="A"))
return 1;
ifi(a=="C' &&b=="G") || (a=="'G' && b =="'("))
return 1
return 0;
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int RNA_2(char B[LEN], int n){
inti,jk,t
int max;
int C(LEN][LEN] = {0};

for(k = 5; k <=n - 1; k++){
for(i=1;i<=n-k; i++){

j=i+k;
)
for( (2 J1<=j - 4; t++){
iff (3) && max < C[iJ[t- 1]+ 1+Ct+1]G-1D
max = C[i]t- 1]+ 1 +C[t+ 1][i - 1];

H

Cli][] = max;

printf{"c[%d][%d] = %d--", i, j, C()lD:

H

H
return (4)
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[C++{LE4]
#include <iostream>
using namespace std;
class FrequentFlyer; class CBasic; class CSilver; class CGold; class CNoCustomer; // #1751 H
class CState {
private: int flyMiles; / %
public:

(1 ;o N RIERBERERARES RS

R
class FrequentFlyer {
friend class CBasic; friend class CSilver;  friend class CGold;
private:
CState *state; CState *nocustomer;  CState *basic; CState *silver;  CState *gold,
double flyMiles;
public:
FrequentFlyer(){ flyMiles =0; setState(nocustomer); }
void setState(CState *state){ this->state = state; }
void travel({int miles) {



double bonusMiles = state->travel(miles, this);
flyMiles = flyMiles + bonusMiles;

tH
class CNoCustomer ; public CState {  / &1
public:
double travel(int miles, FrequentFlyer* context) { / A RBULF
cout << "Your travel will not account for points\n";  return miles;

HH
class CBasic : public CState {  / ¥4 0
public:
double travel(int miles, FrequentFlyer* context) {
if{context->flyMiles >= 25000 && context->flyMiles < 50000)

(2)
ificontext->flyMiles < 25000) (3) R
return miles + 0.5*miles; /I BRBERN

tH
class CGold : public CState { / & &0
public:
double travel(int miles, FrequentFlyer* context) {
ifflcontext-> flyMiles >= 25000 && context-> flyMiles < 50000)

4) :
if{context-> flyMiles < 25000) (s
return miles + 0.5*miles; I BB RN

HH
class CSilver : public CState { 7/ #+2 5
public:
double travel(int miles, FrequentFlyer* context) {
if{context-> flyMiles < 25000)
context->setState(context->basic);
if{(context-> flyMiles >= 50000)
context->setState(context->gold);
return (miles + 0.25*miles);

o [Ei N AU AR Java fRFD, HNIEN (n) Ab)TA) S 782 AR IR AL Y .

[irH]

A7 ﬁ?ﬂ’]z:ﬂ* RE S R R (Basic) « 4R (Silver)fl 4 (Gold)
AR, B2 It (NonMember) AT LLHHE BSR4 01 . & IS ZARE L —F 0 BRI E
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CHonMember Ciald
Crrequentiyer Cutate
Chasic Br_
61 SRBHNRREN o2 REMAXM
[Java {8i4]
import java.util.*;
abstract class CState {
public int flyMiles; I R
public (1) v R R BRI T

}
class CNoCustomer extends CState | i e
public double travel(int miles, FrequentFlyer context) {
System.out.printin{"Your travel will not account for points”);
return miles; I AR R
H
H
class CBasic extends CState { I HEER
public double travel(int miles, FrequentFlyer context) {
ifcontext.flyMiles >= 25000 && context.flyMiles < 50000)
2)
if{context.flyMiles >= 50000)
(3)
return miles;




}

class CGold extends CState { I &FeR
public double travel(int miles, FrequentFlyer context) {
iflcontext.flyMiles >= 25000 && context.flyMiles < 50000)
(4) ~
if{context.flyMiles < 25000)
(s) 3
return miles + 0.5*miles; I RBURE N

}
H
class CSilver extends CState { I MERR
public double travel(int miles, FrequentFlyer context) {
if{context.flyMiles <= 25000)
context.setState(new CBasic());
if{context.flyMiles >= 50000)
context.setState(new CGold());
return (miles + 0.25*miles); /I BB

H

class FrequentFlyer {
CState state;
double flyMiles;
public FrequentFlyer(){
state = new CNoCustomer();
flyMiles = 0;
sctState(state),
)
public void setState(CState state) | this.state = state; |}
public void travel(int miles) {
double bonusMiles = state.travel(miles, this);
flyMiles = flyMiles + bonusMiles;





